Tri-Tech SERVICING

Medical Inc. BALL VALVE SEALS
FOR TRI-TECH MODEL NUMBERS:
12" 3/4" 1’ 11/4" 112t 2 212" 3
52-02 52-03 52-04 52-05 52-06 52-07 52-08 52-09

52-02LH 52-03LH 52-04LH 52-05LH 52-06LH 52-07LH 52-08LH 52-09LH

BALL VALVE
Removal of the sealsand o-rings

BALL SEAT SEAL

FLANGE O-RING

STEM THRUST WASHER

Figurel
Remove and discarded the warn-out seals and o-rings from Ball Valve.

Seal Kit Part Number Valve Size Seal KitsIncludesthe Following
52-0002S vz
52-0003S 34 2 Ball Seat Sedls
52-0004S 1” 2 Flange O-Rings
52-0005S 114 1 Stem Sed
52-0006S 112 1 Stem Thrust Washer
52-0007S 2
52-0008S 212
52-0009S 3
Tools Needed
1- Adjustable Wrench M6, M8, M10, M12 and M14 Hex Wrench
E5799rIR 9/20/13 Tri-Tech Medical Inc., 35401 Avon Commerce Pkwy., Avon, Ohio 44011 NO. 99-0449

Tel 800-253-8692 or 440-937-6244 Fax. 440-937-5060
Web-site www.tri-techmedical.com E-mail address: sales@tri-techmedical.com
Page 1 of 2




Tri-Tech BALL VALVE

Medical Inc. TORQUE CHART
FOR TRI-TECH MODEL NUMBERS:
12" 3/4" 1’ 11/4" 112t 2 212" 3
52-02 52-03 52-04 52-05 52-06 52-07 52-08 52-09

52-02LH 52-03LH 52-04LH 52-05LH 52-06LH 52-07LH 52-08LH 52-09LH

11/2" and 3" BALL VALVES SHOWN
-

] N\
Figure 1 : . 21/2" 83"
Note: Tighten Boltsin the Numbered Sequence shown above.
| PartNo. | ValveSize | BoltSize | kgf-em | in-lbs
. 52-02 \ 1/2" . M6x1 | 92 \ 65
| 52-03 \ 3/4" | M8x125 | 107 \ 75
. 52-04 \ 1" | M8x125 | 121 \ 85
. 52-05 o 1us | M10x15 | 171 120
. 52-06 12 | M10x15 | 185 130
. 52-07 | 2’ . M12x 175 | 284 . 200
| 52-08 2y | M14x20 | 355391 | 250-275
. 52-09 | 3 | M14x20 | 355391 | 250-275
e5799rIR 9/20/13 Tri-Tech Medical Inc., 35401 Avon Commerce Pkwy, Avon, Ohio 44011 No. 99-0449

Tel 800-253-8692 or 440-937-6244 Fax. 440-937-5060
Web-site www.tri-techmedical.com E-mail address: sales@tri-techmedical.com
Page 2 of 2




